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1. Expand the following :

(a) (2a + b)(4a® — 2ab + b?)

(b) (3x + y) (922 — 3zy + y?)

2. Factorize the following :

(a) b2 + Tzy — 6y

(b) 22% — 32y — 2y* + 5 + 5y — 3

(c) 2t —T22 +1

3. Rationalize the following :

1

@ BBV

4. Solve the following double roots :

(a) V11 —+/120

VT+V5 V75

5 YT g T

spectively. Then calculate the following :

5. We suppose that x =

(a) 2 +y?

(b) 2% 44?
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Suggested Answers RN RS YA
1. (a) 8a®+0?

(b) 272% + 3

- (a) V65

2. (a) (x4 2y)(bz — 3y)

(b) (z—2y+3)(2z+y—1) . (a) 6

(c) (22 +3x+1)(2® -3z +1) (b) %ﬁ

Onomichi Glocal Labo



